

*FUNCTIONS REPRESENTED
BY INTEGRATED RADEMACHER SERIES*

BY

JAMES R. McLAUGHLIN (UNIVERSITY PARK, PENN.)

Functions represented by lacunary trigonometric series provide interesting examples of certain types of functions, such as the Weierstrass function $f(t) = \sum_{n=1}^{\infty} 2^{-n} \cos 2^n t$ which is continuous but yet differentiable nowhere ([18], p. 47). Several authors have considered functions represented by series of "saw-tooth" functions which also provide interesting examples of continuous nowhere-differentiable functions ([3], p. 115; [7], p. 38; [17], p. 353) and continuous functions having a symmetric derivative everywhere but non-differentiable on a dense set ([15], p. 93).

The present author has noticed that many of the series of "saw-tooth" functions previously considered are simply integrated Rademacher series. Also there is a close parallel between trigonometric series of the form

$$(1) \quad \sum_{m=1}^{\infty} a_m \int_0^t \sin(b_m x) dx = \sum_{m=1}^{\infty} a_m b_m^{-1} [1 - \cos b_m t]$$

and integrated Rademacher type series of the form

$$(2) \quad \sum_{m=1}^{\infty} a_m \int_0^t r_1(b_m x) dx \equiv \sum_{m=1}^{\infty} a_m s_m(t),$$

where $\{a_m\}$ is a sequence of real numbers, $\{b_m\}$ is an increasing sequence of positive integers such that b_m/b_{m-1} is even, and $r_1(t)$ is defined as follows:

$$(3) \quad r_1(t) = \begin{cases} 1, & 0 \leq t < 1/2, \\ -1, & 1/2 \leq t < 1, \\ r_1(t+k), & \text{for any integer } k. \end{cases}$$

In the simplest case, $b_m = 2^{m-1}$, $s_m(t)$ is the primitive of $r_m(t) = r_1(2^{m-1}t)$, the m -th Rademacher function. The main reason for this parallel appears to be the fact that $r_1(t) = \text{sign} \sin \pi t$ whenever the latter is non-zero.

In this paper we study series of the form (2) and find analogues of known theorems on lacunary trigonometric series of the form (1). In general, the proofs of our theorems are simpler than either the corresponding ones for trigonometric series or for the series of "saw-tooth" functions previously considered. For instance, Theorem 3 generalizes all the well-known examples of continuous nowhere-differentiable functions which are represented by series of "saw-tooth" functions, and yet its proof is no more difficult than those previously given for the special cases. Also, by utilizing integrated Rademacher series we give a simple example of an absolutely continuous function possessing a proper minimum on a dense set (Corollary 4).

Now let $F(t)$ denote the sum of series (2) whenever it exists. Since $|s_m(t)| < b_m^{-1}$, we have

LEMMA 1. *If $\sum |a_m b_m^{-1}| < \infty$, then F is continuous.*

Also, since $r_1(b_m t)$ is constant over $[p/b_k, (p+1)/b_k]$ for $m < k$ and orthogonal over that interval for $m \geq k$, we have

LEMMA 2. *If $p/b_k \leq t < (p+1)/b_k$, where p and k are integers, $k > 1$, then*

$$(4) \quad F[(p+1)/b_k] - F[p/b_k] = b_k^{-1} \sum_{m=1}^{k-1} a_m r_1(b_m t).$$

In order to study the modulus of continuity of F (defined in [18], p. 42) we will need

LEMMA 3. *Let $\Phi_1(t)$ be orthogonal and bounded on $[0, 1)$, $\Phi_1(t+k) = \Phi_1(t)$, and $\Phi_m(t) = \Phi_1(mt)$, where k and $m = 1, 2, \dots$. If $0 < h \leq 1$ and*

$$G(t) = \sum_{m=1}^{\infty} a_m \int_0^t \Phi_m(x) dx$$

exists for all t , then

$$(5) \quad |G(t+h) - G(t)| = O \left[h \sum_{m=1}^{2^n} |a_m| + \sum_{m=2^{n+1}}^{\infty} |a_m| m^{-1} \right]$$

uniformly in t , where n is chosen such that $2^{-n-1} < h \leq 2^{-n}$.

Proof.

$$G(t+h) - G(t) = \sum_{m=1}^{\infty} a_m \int_t^{t+h} \Phi_m(x) dx = \sum_{m=1}^{2^n} + \sum_{m=2^{n+1}}^{\infty} = P + Q,$$

$$|P| = O \left[h \sum_{m=1}^{2^n} |a_m| \right], \quad |Q| = O \left[\sum_{m=2^{n+1}}^{\infty} |a_m| m^{-1} \right].$$

THEOREM 1. Let $G(t)$ be as defined in Lemma 3. If $0 < a \leq 1$ and

$$\sum_{m=1}^n |a_m| = O[n^{(1-a)}],$$

then $G \in \text{Lip } a$.

Proof. By Lemma 3 we have

$$|G(t+h) - G(t)| = O\left[h2^{n(1-a)} + \sum_{k=n}^{\infty} 2^{-ak}\right] = O[h^a].$$

COROLLARY 1 (G. G. Lorentz [2], p. 217). If $0 < a < 1$, and

$$(6) \quad \sum_{m=n}^{\infty} (|a_m| + |b_m|) = O(n^{-a}),$$

then $H(t) = \sum_{m=1}^{\infty} (a_m \cos mt + b_m \sin mt) \in \text{Lip } a$.

Proof. Condition (6) is equivalent to

$$\sum_{m=1}^n (|a_m| + |b_m|) m = O[n^{(1-a)}], \quad 0 < a < 1.$$

We now return to series of the form (2) and prove

THEOREM 2. If $0 < a \leq 1$, then $F \in \text{Lip } a$ if and only if

$$\sum_{m=1}^{k-1} |a_m| = O[b_k^{(1-a)}].$$

Proof. If $F \in \text{Lip } a$ and t is chosen such that $r_1(b_m t) = \text{sign } a_m$ for $1 \leq m < k$, then by Lemma 2

$$b_k^{-1} \sum_{m=1}^{k-1} |a_m| = O[b_k^{-a}].$$

This together with Theorem 1 implies our desired result.

COROLLARY 2. If $0 < a < 1$, then $F \in \text{Lip } a$ if and only if $|a_m| = O[b_m^{(1-a)}]$.

COROLLARY 3. $F \in \text{Lip } 1$ if and only if $\sum |a_m| < \infty$.

THEOREM 3. If $\sum |a_m b_m^{-1}| < \infty$ and $a_m \neq o(1)$, then F is continuous but has no finite derivative anywhere.

Proof. If $p/b_k \leq t < (p+1)/b_k$, then

$$(7) \quad \{F[(p+1)/b_k] - F[p/b_k]\} b_k = \sum_{m=1}^{k-1} a_m r_1(b_m t)$$

cannot converge for a fixed t as $k \rightarrow \infty$. But it follows easily (cf. [3], p. 115) that if $\alpha_n \leq t < \beta_n$ for $n = 1, 2, \dots$, $\beta_n - \alpha_n \rightarrow 0$ as $n \rightarrow \infty$, and

$f'(t)$ exists and is finite, then

$$[f(\beta_n) - f(a_n)]/[\beta_n - a_n] \rightarrow f'(t) \quad \text{as } n \rightarrow \infty;$$

and hence if $F'(t)$ exists and is finite we must have that (7) converges.

Remark 1. For $b_n = 2^{m-1}$, Theorem 3 was previously proved for several special cases such as $a_n \equiv 1$ ([3], p. 115) and $a_m = 1$ for $m = 2n + 1$, $n = 0, 1, 2, \dots$ and 0 otherwise ([7], p. 38). Series of this type were first considered by G. Faber ([16], pp. 546-554) and hence may be called *Faber series*. In fact, the case $a_m = 10^{-n} 2^{n!}$, for $m = 2^{n!}$, $n = 1, 2, \dots$, and 0 otherwise was given by Faber ([5], p. 538) in 1907 before the Rademacher functions were invented! The case $b_m = 10^m$ and $a_m \equiv 1$ was given by B. van der Waerden in 1930 ([17], p. 353).

By a slight modification of the proof of Theorem 3 we now prove the stronger

THEOREM 4. *If $\sum |a_m b_m^{-1}| < \infty$ and $a_m \neq o(1)$, then F is continuous but has neither a finite right- or left-hand derivative at any point.*

Proof. If $p/b_k \leq t < (p+1)/b_k$, then

$$(8) \quad \{F[(p+2)/b_k] - F[(p+1)/b_k]\} b_k = \sum_{m=1}^{k-1} a_m r_1[b_m(p+1)/b_k]$$

cannot converge for a fixed t as $k \rightarrow \infty$. But it follows easily (cf. [3], p. 115) that if $t < \alpha_n < \beta_n$ for $n = 1, 2, \dots$, $\beta_n - t \rightarrow 0$, and the sequence $\{(\beta_n - t)/(\beta_n - \alpha_n)\}$ is bounded, then

$$[f(\beta_n) - f(\alpha_n)]/[\beta_n - \alpha_n] \rightarrow f(t+) \quad \text{as } n \rightarrow \infty$$

whenever $f'(t+)$ exists and is finite; and thus (8) approaches $F'(t+)$ whenever the right-hand derivative exists and is finite. A similar argument shows that the left-hand derivative exists nowhere.

Remark 2. McShane and Botts proved Theorem 4 ([14], p. 116) for the case $b_m = 12^{m-1}$ and $a_m = 6^{m-1}$, $m = 1, 2, \dots$

Remark 3. We may not omit the condition of finiteness in Theorem 4. To verify this we may consider the function $\mathcal{F}_1(t) = \sum_{m=1}^{\infty} \int_0^t r_m(x) dx$. Choose now $0 < h \leq 1$ and $2^{-k-1} < h \leq 2^{-k}$. Then

$$[\mathcal{F}_1(h) - \mathcal{F}_1(0)]/h \geq \sum_{m=1}^{k-1} h^{-1} \int_0^h r_m(x) dx = \sum_{m=1}^{k-1} 1.$$

Thus $\mathcal{F}'_1(0+) = +\infty$; similarly $\mathcal{F}'_1(0-) = -\infty$. From these results it follows that $\mathcal{F}_1(t)$ has at all dyadic rationals (i.e., numbers of the form $p/2^k$) a right-hand derivative equal to $+\infty$ and a left-hand derivative equal to $-\infty$.

THEOREM 5. *If $a_m \neq o(1)$, $a_m = O(1)$, then F has neither a finite right- nor left-hand derivative at any point and*

$$\omega(F, h) = O[h \log h],$$

where $\omega(F, h)$ denotes the modulus of continuity of F .

Proof. By Lemma 3, if $2^{-n-1} < h \leq 2^{-n}$

$$|F(t+h) - F(t)| = O[hn + 2^{-n}] = O[h \log h].$$

Remark 4. By Theorem 2, 3, 4 and 5 and Remark 3 we see that

$$F_\alpha(t) = \sum_{m=1}^{\infty} b^{(1-\alpha)m} \int_0^t r_1(b^m x) dx,$$

where b is an even positive integer and $0 < \alpha \leq 1$, is quite similar to the Weierstrass function ([18], pp. 44-48; [9], p. 170)

$$\sum_{m=1}^{\infty} b^{(1-\alpha)m} \int_0^t \sin b^m x dx = 1 - \sum_{m=1}^{\infty} b^{-\alpha m} \cos b^m t.$$

However, $F_1(t) \notin \Lambda_*$ (cf. [18], p. 47) since

$$\begin{aligned} F_1(b^{-n}) + F_1(-b^{-n}) - 2F_1(0) &= \sum_{m=1}^{\infty} \left[\int_0^{b^{-n}} r_1(b^m x) dx - \int_{-b^{-n}}^0 r_1(b^m x) dx \right] \\ &= \sum_{m=1}^{n-1} [b^{-n} + b^{-n}] = 2(n-1)b^{-n} \neq O(b^{-n}). \end{aligned}$$

We now proceed to

THEOREM 6. *If $\sum |a_m b_m^{-1}| < \infty$ and*

$$(9) \quad \limsup \left\{ |a_k| 3^{-1} - \sum_{m=1}^{k-1} |a_m| \right\} = +\infty,$$

then $F(t)$ is continuous and has upper and lower derivatives of $+\infty$ and $-\infty$, respectively, for every t .

Proof (cf. [14], pp. 113-115). Fix t and choose $t_2 = p/b_{k+1} \leq t < (p+1)/b_{k+1} = t_3$, $t_1 = (p-1)/b_{k+1}$, and $t_4 = (p+2)/b_{k+1}$, where p is an integer. Then

$$(10) \quad \frac{F(t_3) - F(t_2)}{t_3 - t_2} = \sum_{m=1}^k a_m r_1(b_m t) = a_k r_k(b_k t) + \sum_{m=1}^{k-1} a_m r_1(b_m t),$$

$$\begin{aligned} (11) \quad \frac{F(t_4) - F(t_1)}{t_4 - t_1} &= \left[a_k \int_{t_3}^{t_4} r_1(b_k x) dx + \sum_{m=1}^{k-1} a_m \int_{x_1}^{x_4} r_1(b_m x) dx \right] b_k 3^{-1} \\ &= -a_k r_k(b_k t) 3^{-1} + \left[\sum_{m=1}^{k-1} \right] b_k 3^{-1}. \end{aligned}$$

Suppose now that $a_k r_k(b_k t) = |a_k|$. Then by (10) and (11) we have

$$(12) \quad \frac{F(t_3) - F(t_2)}{t_3 - t_2} \geq |a_k| - \sum_{m=1}^{k-1} |a_m|,$$

$$(13) \quad \frac{F(t_4) - F(t_1)}{t_4 - t_1} \leq -|a_k|3^{-1} + \sum_{m=1}^{k-1} |a_m|.$$

Now since

$$\frac{F(t_4) - F(t_1)}{t_4 - t_1} = \frac{t - t_1}{t_4 - t_1} \cdot \frac{F(t) - F(t_1)}{t - t_1} + \frac{t_4 - t}{t_4 - t_1} \cdot \frac{F(t_4) - F(t)}{t_4 - t},$$

we must have either

$$\frac{F(t) - F(t_1)}{t - t_1} \quad \text{or} \quad \frac{F(t_4) - F(t)}{t_4 - t}$$

less than or equal to the right-hand side of (13). Similarly either

$$\frac{F(t) - F(t_2)}{t - t_2} \quad \text{or} \quad \frac{F(t_3) - F(t)}{t_3 - t}$$

is greater than or equal to the right-hand side of (12).

An analogous argument holds for the case $a_k r_k(b_k t) = -|a_k|$.

Remark 5. The above result was proved for $b_m = 12^{m-1}$, $a_m = 6^{m-1}$ for $m = 1, 2, \dots$ by McShane and Botts ([14], p. 113). Hobson essentially proved Theorem 6 ([8], pp. 410-411) in its full generality by utilizing a technique of Knopp.

Remark 6. A. S. Besicovitch has given an example of a continuous function which has no unilateral derivative (infinite or finite) at any point ([9], p. 172; [4], p. 39).

We now prove

THEOREM 7. *If $a_m = o(1)$ and $\sum |a_m| = \infty$, then for every $\varepsilon > 0$, $(a, b) \subset [0, 1]$, and real number d , there exists $t_1, t_2 \in (a, b)$ satisfying*

$$|[F(t_2) - F(t_1)]/[t_2 - t_1] - d| < \varepsilon.$$

Proof. If $b_m = 2^{m-1}$, $a_m = o(1)$, and $\sum |a_m| = \infty$, then in every interval the Rademacher series $\sum_{m=1}^{\infty} a_m r_m(t)$ assumes every real number ([10], p. 234, Théorème 2). Assume now that $\sum_{m=1}^{\infty} a_m r_m(t_0) = d$ and choose $p/2^n \leq t_0 < (p+1)/2^n$. Then

$$\{F[(p+1)/2^n] - F[p/2^n]\} 2^n = \sum_{m=1}^{n-1} a_m r_m(t_0) \rightarrow d \quad \text{as } n \rightarrow \infty.$$

The general case, for b_m/b_{m-1} even, is obtained by observing that series of the form (2) also assume in every interval every real number.

THEOREM 8. *If $\sum |a_m b_m^{-1}| < \infty$ and $\sum a_m^2 = \infty$, then F is continuous and has a finite derivative almost nowhere.*

Proof. If $b_m = 2^{m-1}$ and $\sum a_m^2 = \infty$, then the Rademacher series $\sum a_m r_m(t)$ diverges for almost every $t \in [0, 1)$ ([1], p. 54) and thus our result follows from Lemma 2.

The general case, when b_m/b_{m-1} is even, is obtained by generalizing Theorem 1.7.4 in [1], p. 54, to orthogonal series of the form (2).

THEOREM 9. *If $\sum a_m^2 < \infty$, then F is the primitive of a function $f \in L^p$, $0 < p < \infty$.*

Proof. If $b_m = 2^{m-1}$ and $\sum a_m^2 < \infty$, then $\sum a_m r_m(t)$ converges almost everywhere and is the Fourier series of its sum $f \in L^p$, $0 < p < \infty$ ([18], pp. 212-213). Also by the Riesz-Fischer theorem ([18], p. 127)

$$\int_0^t \left[f(x) - \sum_{m=1}^n a_m r_m(x) \right] dx \rightarrow 0 \quad \text{as } n \rightarrow \infty,$$

i.e.,

$$F(t) = \sum_{m=1}^{\infty} a_m \int_0^t r_m(x) dx = \int_0^t \left[\sum_{m=1}^{\infty} a_m r_m(x) \right] dx.$$

The general case is obtained by generalizing Theorems (8.2) and (8.4) in [18], p. 212-213, to series of the form (2).

THEOREM 10. *If $a_m \geq 0$, $\sum a_m = \infty$, and $\sum a_m b_m^{-1} < \infty$, then F is a continuous function with a right-hand derivative of $+\infty$ and a left-hand derivative of $-\infty$ at all numbers of the form $\{p/b_k\}$, where p is any integer and $k = 1, 2, \dots$*

Proof (cf. [7], p. 29). If $n > k$ and $b_{n+1}^{-1} \leq h < b_n^{-1}$, then

$$\begin{aligned} F(pb_k^{-1} + h) - F(pb_k^{-1}) &\geq \sum_{m=1}^{n-1} a_m \int_{pb_k^{-1}}^{pb_k^{-1} + h} r_1(b_m t) dt \\ &= \sum_{m=1}^{k-1} a_m + \sum_{m=k}^{n-1} a_m \geq -h \sum_{m=1}^{k-1} a_m + h \sum_{m=k}^{n-1} a_m, \end{aligned}$$

$$[F(pb_k^{-1} + h) - F(pb_k^{-1})]/h \geq - \sum_{m=1}^{k-1} a_m + \sum_{m=k}^{n-1} a_m \rightarrow +\infty \quad \text{as } h \rightarrow 0.$$

Similarly

$$[F(pb_k^{-1} - h) - F(pb_k^{-1})]/h \geq - \sum_{m=1}^{k-1} a_m + \sum_{m=k}^{n-1} a_m \rightarrow +\infty \quad \text{as } h \rightarrow 0.$$

COROLLARY 4. *If $a_m \geq 0$, $\sum a_m^2 < \infty$, and $\sum a_m = \infty$, then F is an absolutely continuous, everywhere oscillating function with a proper minimum at all numbers of the form $\{p/b_k\}$.*

Remark 7. A function may be everywhere oscillating and have a finite derivative at every point ([3], p. 61; [8], p. 412).

THEOREM 11. *If $\sum |a_m| < \infty$, then $F \in \text{Lip}1$ and has a right- and left-hand derivative everywhere.*

Proof. If $\sum |a_m| < \infty$, then series (2) is uniformly absolutely convergent and hence its sum $f(t)$ must have right- and left-hand limits everywhere.

COROLLARY 5. *If $b_m = 2^{m-1}$, $\sum |a_m| < \infty$, and*

$$a_k \neq \sum_{m=k+1}^{\infty} a_m \quad \text{for } k = 1, 2, \dots,$$

then F is continuous, has a symmetric derivative (defined in [4], p. 34) everywhere, but is not differentiable at dyadic rationals.

Proof. If a function has a right- and left-hand derivative at a point, then it has a symmetric derivative there.

Also, since $r_m(p2^{-k} + t) = r_m(t)$ if $m \geq k+1$, and $r_k(p2^{-k} + t) = -r_k(t)$, we have

$$(14) \quad f(p2^{-k} + t) - f(p2^{-k} - t) = \sum_{m=1}^{k-1} a_m [r_m(p2^{-k} + t) - r_m(p2^{-k} - t)] + \\ + a_k [-r_k(t) + r_k(-t)] + \sum_{m=k+1}^{\infty} a_m [r_m(t) - r_m(-t)].$$

Hence for p odd, it follows that (14) approaches $-2a_k + 2 \sum_{m=k+1}^{\infty} a_m$ as $t \rightarrow 0+$, and so by our hypothesis $f(t)$ must have unequal right- and left-hand limits at all dyadic rationals. But this implies $F(t)$ will have different right- and left-hand derivatives at these points.

Remark 8. Corollary 5 for the special case $a_m = (2/3)^m$ for $m = 1, 2, \dots$ was recently proved by Mukhopadhyay [15]. Mukhopadhyay's theorem can also be obtained by considering the primitive of the function

$$g(t) = \sum_{n \in E(t)} 2^{-n},$$

where $E(t) = \{n: t_n \leq t\}$ and $\{t_n\}$ is a dense denumerable set; thus making $g(t)$ monotone, bounded, and having at each t_n an essential jump discontinuity.

We now prove that no condition weaker than Lip 1 implies differentiability anywhere.

THEOREM 12. *If $\omega(h) \uparrow \infty$ arbitrarily slowly as $h \downarrow 0$, then there exists a continuous function F , with a finite derivative nowhere, such that*

$$\omega(F, h) = O[h\omega(h)],$$

where $\omega(F, h)$ denotes the modulus of continuity of F .

Proof. Choose a non-null sequence $\{a_m\}$ satisfying

- (i) a_m is either 0 or 1 for $m = 1, 2, \dots$,
(ii) $\sum_{m=1}^n a_m = O[\omega(2^{-n})]$.

Then, setting $b_m = 2^{m-1}$ in (2), we have by Lemma 3

$$|F(t+h) - F(t)| = O\left[h\omega(2^{-n}) + \sum_{m=n+1}^{\infty} 2^{-n}\right] = O[h\omega(h)].$$

But since $a_m \neq o(1)$, F has a finite derivative nowhere by Theorem 3 (or Theorem 4).

Remark 9. The last result was proved by Kahane [11] by a similar method. In a previous paper of the author ([12], Theorem 3.7), by use of trigonometric series, we constructed a function F , as in Theorem 12, which was differentiable almost nowhere. However, by selecting $\{\varepsilon_m\}$ in our previous paper as $\{a_m\}$ in Theorem 12 we could have obtained differentiability nowhere by utilizing a result of Freud ([6], p. 261) on lacunary trigonometric series.

Remark 10. For other interesting properties of Rademacher series the reader is referred to [13] and its references.

REFERENCES

- [1] G. Alexits, *Convergence problems of orthogonal series*, New York 1961.
[2] N. Bary, *A treatise on trigonometric series*, Vol. I, New York 1964.
[3] R. P. Boas, Jr., *A primer of real functions*, Carus Mathematical Monograph 13, MAA, New York 1960.
[4] A. M. Bruckner and J. L. Leonard, *Derivatives*, American Mathematical Monthly 73 (1966), p. 24-56.
[5] G. Faber, *Einfaches Beispiel einer stetigen nirgends differentiierbaren Funktion*, Jahresbericht der Deutschen Mathematiker Vereinigung 16 (1907), p. 538-540.
[6] G. Freud, *Über trigonometrische Approximation and Fouriersche Reihen*, Mathematische Zeitschrift 78 (1962), p. 252-262.
[7] B. Gelbaum and J. Olmsted, *Counterexamples in analysis*, San Francisco 1964.
[8] E. W. Hobson, *The theory of functions of a real variable and the theory of Fourier's series*, Vol. II, New York 1957.
[9] R. L. Jeffery, *The theory of functions of a real variable*, Mathematical Expositions 6, Toronto 1951.

[10] S. Kaczmarz and H. Steinhaus, *Le système orthogonal de M. Rademacher*, *Studia Mathematica* 2 (1930), p. 231-247.

[11] J. -P. Kahane, *Sur l'exemple, donné par M. de Rham, d'une fonction continue sans dérivée*, *Enseignement Mathématique* 5 (1959), p. 53-57.

[12] J. R. McLaughlin, *Functions represented by trigonometric series*, *Journal of Mathematical Analysis and Applications* 22 (1968), p. 62-71.

[13] — *Functions represented by Rademacher series*, *Pacific Journal of Mathematics* 27 (1968), p. 373-378.

[14] E. McShane and T. Botts, *Real analysis*, New York 1959.

[15] S. N. Mukhopadhyay, *On Schwarz differentiability*, III, *Colloquium Mathematicum* 17 (1967), p. 93-97.

[16] J. Pierpont, *The theory of functions of real variables*, Vol. II, New York 1959.

[17] E. Titchmarsh, *The theory of functions*, 2-nd ed., London 1960.

[18] A. Zygmund, *Trigonometric series* I, 2-nd ed., New York 1959.

THE PENNSYLVANIA STATE UNIVERSITY

Reçu par la Rédaction le 24. 2. 1968
